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® Check your answers if you have time at the end.
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1s ABCD is a cyclic quadrilateral within a circle centre O.
XY is the tangent to the circle at 4.
Angle X4B = 58°
Angle BAD = 78°
Angle DBC = 34°

c
Diagram NOT
accurately drawn
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2.(a) Here is a circle with centre O.

Q!

Diagram NOT
accurately drawn

CP

Write down the value of x.

o T degrees
1)
(b) Here is a different circle.
& Diagram NOT
l accurately drawn
Write down the value of y.

........ Q g degrees

(0))
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Diagram NOT
accurately drawn

w

U, V and W are points on the circumference of a circle, centre
Q. UW is a diameter of the circle.
(a) (1) Write down the size of angle UV'W.

(i1) Give a reason for your answer.

()
Diagram NOT
4 accurately dr
% y drawn
X
X, Y and Z are points on the circumference of a circle, centre O.
Angle XOZ = 140°.
(b) (1) Work out the size of angle XYZ.

(ii) Give a reason for your answer.

s _bwice bae Mf)\e, Subtendoel the same arc ak an-y

obher point on the circumference  (Doulle ange theoem) @) o
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*4,

A Diagram NOT
accurately drawn

60°
w X

X, Y and Z are points on the circumference of a circle, centre O.
WX and WZ are tangents to the circle.

. Angle ZIWX = 60°
Work out the size of angle XYZ.

Give a reason for each stage in your working.

I A
OZW = OXWw = Q0
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5.
B Diagram NOT
accurately drawn

38°
A

D
D tongent of raddus . r
C) l::_:a('rﬂ - ﬁﬁ.‘t—“fﬁi“ﬂ- t}'\f’dﬁ,é{fw ?})uqt‘ O(‘
The diagram shows a circle centre O. L
o . Coﬁta\_L a
A, B and C are points on the circumference.

DCO is a straight line.
DA is a tangent to the circle.

Angle ADO = 38°

(a) Work out the size of angle AOD.

ASD = 150 -90-2% = 5

(b) (i) Work out the size of angle ABC.

Aleaye S0
9\(5‘,1) 2 N

(i1) Give a reason for your answer.

'_—Dcuufz_ a.né\e, theorerm — See orswor ko _<_:j_3, L &t

(- (Full eaplanakion of- dodble angle throrem, )
(Total 5 marks)
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Diagram NOT
accurately drawn

/ C
B
In the diagram, 4, B, C and D are points on the circumference of a circle, centre O.
Angle BAD = 60°,
Angle BOD = x°.

Angle BCD = y°.

(a) (i) Work out the value of x.

(i1) Give a reason for your answer.

(b) (i) Work out the value of y.

i%@"’ Lt = '9300

(11) Give a reason for your answer.

(Total 4 marks)
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Diagram NOT
accurately drawn

S 4 3
A, B and C are points on the circumference of a circle, centre O.
The line SAT is the tangent at 4 to the circle.
CB = AB.
Angle ATP = 60°.
Calculate the size of angle OAB.
Give a reason for each stage in your working.
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Diagram NOT
accurately drawn

A, B, C and D are points on the circumference of a circle.
Angle ABD = 54°.
Angle BAC = 28°.

(i) Find the size of angle ACD.

(if) Give a reason for your answer.

(Total 2 marks)
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" 4 Diagram NOT
accurately drawn

WX is a diameter of a circle.
Y is a point on the circle.

Z is the point inside the circle such that ZX = XY and XZ is parallel to YI¥.
Find the size of angle XZY.
You must give reasons for your answer.
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10. ABCD is a cyclic quadrilateral.
AE is a tangent at A.
CDE is a straight line.
Angle CAD = 32°
Angle ABD = 40°

Diagram NOT
accurately drawn

Work out the size of angle AED, marked x, on the diagram.
You must show your working.
Give reasons for any angles you work out.
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- id Diagram NOT
accurately drawn

N

W, X, ¥ and Z are points on a circle, centre O.
XY=YZ
Angle XYZ = 130°.

(a) Write down the size of angle XWZ.
Give a reason for your answer.

YW Z = 180 ~130 = 507
<inte opposite a\,r\élvc/_s of a 4\359\‘1& q’qqdriéﬂfwm(l

salal ks ¥R@® I

(2)
(b) Work out the size of angle OZY.
Give reasons for your answer.
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